Submit your 3 questions for the exam with 5 alternative answers for each question.

Sample question:
1- The function push in the array implementation of stacks (Figure 4.24) is implemented as follows:

bool push(const Elem& item) {

    if (top == size) return false; // Stack is full

    else { listArray[++top] = item; 
    listArray[top++] = item ;return true; }  }

     All other functions or code remain unchanged. What is the second line displayed by the code:

AStack<int> s1(10);

  for (int i=0; i<4;i++) 
s1.push(i);

  while(s1.pop(i))   
cout<<i<<endl;
a- 0

b-1


c-2


d-3
e-None of the above. 




The answer is:

